FR29FERERZERB (AXTE) FERRTME

B % Hi |#E HEENE (%) |EE
mBniE B & _ BEREYRE |BURE =1
1 BREENCBEL-NESL M3 191
2 T TRKBRRSY m3 0
= =5 YRV =+
3 |Ei#E @7377%%“7“'7 JUHE| 3 0 0 191 100
JIA=Y LRSS HALV:
4 r—ys s m3 0
5 Az B4 iz B ARHRSS m3 0 0 0 0
6 o [BEMBTAIIANEESY 509
8 FBIE 7 RATD7ILNEE Y t 0
9 EFERAZY B#M m3 0
10 [av9)—FRR [2z0=yS VLRSI EM m3 0 0 0 0
11 ST B RS BEM m3 0
12 ;ﬁ-ig’?]u'kﬁﬁ"é{tx%’g B m3 0
13 8RS EA BRI m3 0
14 PRAZH4 EABHE 3 35 2,100 2,632 20
15 INEAK R {44 m3 0
16 BlF A t 24 0 ” 100
17 B A K D2o5AT7 v at Ak t 0
16 - 1|5 a9 —k (BF) m3 58 0 59 100
17 - 1 EaAH )=k (774T7yV1) m3 0
18 AN IOtAk & 161 S RRIE. aV)—r2RE &
19 aV9)—kRU |EKEILH)—F m3 0
19— 1|avo)—hM& [FXEIOU—F2RERE @ 0
20 %f'ﬂff”’k*” SMRST IO ke 0 0 0 0
WAt Hrar9)— 2547 v azx AL F=RAT T
21 L 2ot m3 0 0 0 0
22 Tfﬁﬁ%g%@gﬁ) " ke 0
EEHM BEIREOKR®E
23 =25 1 K m2 0 0 0 0
24 SIELGEE ! m2 270 0 270 100
25 Rk SIEEGIESES m2 0 0 0 0
26 BEMEZRW-SERD > 0
A4 (BERR)
EEEL ) BEMHERVN-SERD 0 6 100
27 Oy 3 (FLEX v AMEFHIY |m2 6
) —rEG)
28 IN—2F= VB ke 0
99 H=&M TKFBRZ A -ERERER K 0 0 0 0
H(FAFRIVAERR) 8
30 18 R BA LEDE F&HEER = 50 0 50 100
31 RRAMTT |[BETSAFVIEBRSE e 0 0 0 0
avs wJavy
32 24 )L w53V IEALIL m2 28 0 28 100
33 fe 3=} WEH Y KT TEH 0
34 EY o m3 1
35 SRt m3 0
36 |mAE &R m2 !
m3 0
37 HiRiEEM m3 0
38 EXE IR m3 0
39 o0—) 4 oa0—) g m2 33 0 33 100
40 IN—T 49 )LFR—F m2 0 0 0 0
41 BEKRER—F iR m2 0 0 0 0
42 RKEZR AR m2 132 0 132 100
43 EZIREM |[EZILREM m2 705 0 705 100
44 B E A4 B EA A4 TITEH 148
45 TR AR ES HRBAHIEI S AT L TEH 18 0 18 100
46 ZIEzR PR = 7 0 7 100
47 R IS4 S8 K A = 0 0 0 0
48 KEHK TR a8 1 0 1 100
3+ S5 - 2N - o'o
20 |mmmmE  |(ARTVOVESMRUTRZE [ 0 0 0 0
SRR
50 = A = 5 0 5 100
51 T = 16 0 16 100
= rE 121 115
52 BB iﬁ?:%%ﬁﬁﬂiﬁﬂwiﬂ m 44 5 49 90
53 BEjKIE TEH 1 0 1 100
. BERESFEERUVZDHHA N
54  |Ri%EHER ANESE TEH 1 0 1 100
55 FRVEES TITEH 2 0 2 100
56 aV0)—rRE BEMEEFERALEER TITEH 2
57 B ERER TEH 62
28 R EL R B A R SR B2 ER AR TEH 49 0 49 100
59 i REES R E R TIEHR 42 0 42 100
BERELTEY | ra " R
o |EaotBEl pmermenmTs  |TEK 1 0 1 100
avo)—MMRE | . s %
62 AN T S5 VO )—MEBEMETE | ITEH 0 0 0 0
=t N TEH 2
63 HE(XE) KEREBEBEIE > T
64 [WEGEE)  |BEELBETH LB 2
. R FEMXIERRETZTA|ISEH 0 0 0 0
65 AERILTIE LiEZmEFEITE m2 0 0 0 0
N SEG FF ~
66 UJE%?&DI;E g%gﬂi/*ﬂbt%zﬂ??” I$§ﬂ 0 0 0 0
67 . Pkt g m2 11
T ks BIKTE S m2 0
69 |= it E L&t m2 0




